®

@Modular

Assembly Technology

90° Flat Chain Curve Conveyor
90° K INpEES B axml
Instruction & Maintenance Manual

RRISRAEr T

First time user must read this instruction

B RIS INIUF AR SEhE B IR

RNEEBFLWEEEABREAT
Modular Assembly Technology Co., Ltd.



®

C&ngodular

Initial Operation Notice

s & i F

The chain and chain plate shall be fully lubricated before first use. See Page 8 for
detailed operation instructions.

BRERR, DIV EEREAHTER, BRRFEENS 8 .

Reverse direction operation of PTS2/F is not permissible, which might be damged
and cannot be fixed. First operation should be controlled within 2 seconds, please
check if the conveying direction of chain is right.

PTS2/F xR R Oiaks, SUESIRSEAANTIEEIRIR, B8R THEREDH
RE (RK20)) , REHRGTHAORSIEMR.

Overload circuit breaker must be installed(it will be provided by customers), to avoid
the motor damage by overcurrent.

EBHLVNVNEIINZ BRI RIS (B BES) , TBREMYESE BRI,

Initial operation notice: When the conveyor is assembled and the electric wires are
connected, before connecting to the power, lock the chain tensioner handles by
rotating the handle nuts on both sides clockwisely to the lock position (as shown in the
figure). Turn on the switch, check if the chain movement direction is correct. If so,
release the chain tensioner handles by rotating the handle nuts reversely to the
unlock position. The conveyor will be in work condition from the test operation then.
However, these procedures are necessary after any maintenance, repair or relocation
of the conveyor.

BE&AERGTIRN: DIRBLEHBLATHNG, BEBROB A, TRERBIEN
Sk XEBSFMIRE (PSS 1 1) INNEHREEE TSR (W) , BKESBFR
B, #EBER FEEIsTOafEREELDG, BRkASBFMIREG (B
NEHERERATTHED) , ZADBDRSEATIERT. WBRSEE, TRS
B, BEEHEE, WREN EHEESRIE.

Pagel
$H1M



®

@Modular

Assembly Technology

If your shipment of conveyor is in parts, please follow the assembly instruction as below.

WRENBINR BB Ebtt, BRRU MR TR,

4 '
ey

S/

ina

Mount the section parts on leg sets where the
layout indicated.

RICEBIN SOMINBPLMIE, RBREITS
LARPITE A —TC,

Page2
$2M



Assembly Technology

Modular

-\®
>

Attach the Drive Unit and Driven Unit to the conveyor section(don't leave the cover plate on

Driven Unit).

RRNBTAIN B TLZEEISAETT L (BRRMEIRTT EBER) S

55

=
K«

Cover plate

& iR
Q

M8X25
(6)13Nm

®{

M8X25
(6)13Nm

of

M8X20
(6) 13Nm

2{

Page3

$E3M



®

C&ngodular

Assembly Technology

Install the flat chain along to the transport direction. The chain shall not be twisted during the
installation (Twisted chain can't be used).

SABRRNBREROOESHRGTAHOEE, EARZIEPIRABRERAITRIA
(Vs RAEEER)
él[l

Insert the chain by a chain pulling device (a @ 2 mm wire is recommended) into the drive unit,
and pull through the lower slot of the chain profiles to the return head. Insert the chains around
the return wheels and pull the chains through the upper slot of the chain profiles to the drive
wheels until the ends of the hains are in the positions as shown in the figure.
REROKImANZ (2 2mmER) ESIMNRMRITTKInZEA, BEAETNEEY, SYUE
ST, BLEEBORImES|, 03 KintE, EREERMinkt FEFRERIIE,

Note: It is suggested to use @8 plastic tube together with the steel wire as indicated to
ensure the smooth guidance of chain.

TR NRIEERES VR, 2WERCSENEIGNLER, W ERAMR

M5X12
©{@ 4Nm
Page4
EL DA



®

C&ngodular

Assembly Technology

Lift the self-adjustment chain tensioner handle to the highest position, clockwisely turn the
knurled part of the handle by 90°and the handle will be locked in that position. Connect the chain
ends with chain link as indicated. Then anticlockwisely turn the knurled part of the handle by 90°
and the tensioner handle will slide down to position (B) , which is at a distance of 1/3 (AC) from
position (A). When the chain tensioner handle reaches position (C) after a period of service time,
shorten the chain by removing chain sections.

RERBIEN K RBFRICENE (A), NN EHeEFRRTL 90 B, FRRIRPIEEZAL
E, RETAHBERGDRETERNIR. R, PREREFWRILL 90 B, HRABFMRS
BEBUNBEME (B), (B) UENFUE (A) 1/3 (AC) &b EENBIENER, DKASFSFNE
WE (C) N, BRBENERFEDNDERBIRAEREKE,

Connection position of chain
HRERUE

M6X30 M6X20 M6X25
®{@ 8Nm @ 8Nm ®{%“° 8Nm
Page5
F5M



®

&G o
odular
L JAssemny Technology

With help of (a) level instruments, level the conveyor longitudinally and laterally by adjusting
(b) pivot leveling feet under the stand supports. Fasten (c) nuts on the feet after adjustment. Fix

the conveyor on the ground with (d) expansion bolts.

A@)KFERIK Y (BIEEBEERSHKEN) XiHaNEL&BEaF 0N QT XK EE,
TR N AB(b)MIES SRR K. BTG, R ERCBESIR. &a, AdEKIEZ
REIEEEETHE .

e

|
AR
L8N

(©)

M12 M12 M8
®{% 20Nm @{% 20Nm @{% 13Nm

Page6
67



®

C&ngodular

Assembly Technology

Modular Pallet conveyors are designed and produced for a long life cycle, but correct maintenances
are required timely. These include the cleaning, replacement of damaged parts and preventive
measures. The measures should be scheduled daily, weekly, monthly and seasonally.

Modular FE#FIRBIZRKNERFRIRITAHEST ;. RMEBFE2RENIEROLER. 255
2B SN B IRTANST S . FETMEBI4Er TE. S NXB%Er, B%Er, B4
PAZE 41,

Before running the conveyor each day, please check and remove small parts or fragments in the
chain which may damage the conveyor.
BBEHEI, KNENBREUEE TR LR, BRHAZBRERSNENERPEEM

RS

Clean the dust on the surface each week. Check if there is any debris or fragment embedded
underneath the plastic parts of the pallets.
BABESIRBERESH. REEROBRYSES RATLRFRINERMRA,

Note: cleanser that might corrode metal can not be used.

TR NeEERREBERE EENE S .

Check the fasteners that may loose and tighten them with wrench each month. Check whether
the chain need to be lubricated, if yes, see the Chain Lubrication instructions as below for
operation to ensure long service life.
BHNETEMNENRENH, HEBNNNIRFIR; REHRXEZERTDDE, WRDBESR
IO CGEFEBY RO TERE, MURIERKEMERFSw,
Note: 1. The maintenance shall be done on regular basis. Lacking of lubrication will cause
the failure of chain, which will lead to the failure of equipment or cause irreversible damage
to the equipment.
2. lubricant that might corrode, UHMWPE, POM, Nylon and rubber etc can not be used.
IR 1L EESVRERAER, REOBBSSBRXERRMMSIRIZSTTHE, ER
IGRN T HIIR AR
2AEEERAEBRMBENITERIME, POM, BE, BEERIMEBEBN.

Page7
EYON



®

C&ngodular

Assembly Technology

Check and watch out if the chain is loose. When the tensioner nut is up to the lowest location,

the chain need to be shortened by removing the chain sections. (Refer to step F for installation
instruction)

BEENE, ERNREREONM; SKASRTBURNERMRAEN, FTRBEIEGRED
NOARBRIRRKE. (SRLERHA, TEF

The chain shall be lubricated before starting the equipment. Lubrication method: rotate the whole

chain. It is suggested to use Shell 15W40 machine oil. 2~3 ml of oil per meter. Refer to Figure 1

for lubrication point.

The equipment shall be re-lubricated after stop for more than 6months. The redundant lubricating

grease, oil or other impurities need to be cleaned before lubrication. Check whether the chain is

worn or extended during the lubrication process. The lubrication method and oil volume are the

same as first operation.

It is suggested to re-lubricate the chain if no exact stop duration is known.

When the equipment is in normal use, the chain shall be lubricated every 1000 hours. Little

lubrication oil each time is suggested. It is about 2 ml lubrication oil per meter.

When the equipment is in humid environment, it is necessary to shorten the lubrication circle

according to the situation.

It is suggested to use AL automatic lubrication system. Refer to "Automatic lubrication " for

detailed method.

BATHAI, NERVIUER, RO : BRUSHHESR, AL 2-3 m/EXpERIVHE
(EEER 15W40 ZR218) L85 0d, EBmE 1 Fim.

WEEN, 6 NEREKNE, BBEFDB, BBRREkRER L [l Bl

ZREVBBE. WsUBEMRE; AHTEBN, FEMEHX ©

MiERESEBAPRK ; BRHOINNIFEHESS RAYEME, ‘

WRANERIRSEAR TBA, BWEH RGBSR,

Yy
SR EREAN, ERE 1000 /\NESEE—R, SRS, ;\::::ﬂi
FHEERIBABL 2 miEEH, —
BRGTINEEERAN, EERESNE RSB, ) The lubricaton shall be done on the sides

for flat chain.

B EGEER AL BEBASR, FMITELZESE (BB o | ST HURsRuEsrNmsmeg

Page8
$8M



®

@Modular

Assembly Technology

The chain shall be lubricated before starting the equipment. Lubrication method: rotate the whole

chain. It is suggested to use Shell 15W40 machine oil. 2 ml of oil per meter. See figure 1 for

lubrication point.

The equipment shall be re-lubricated after stop for more than 6months. The redundant

lubricating grease, oil or other impurities need to be cleaned before lubrication. Check whether

the chain is worn or extended during the lubrication process. The lubrication method and oll

volume are the same as first use.

It is suggested to re-lubricate the chain if no exact stop duration is known.

When the equipment is in normal use, the chain shall be lubricated every 2000 hours. Little

lubrication oil each time is suggested. It is about 1 ml lubrication oil per meter.

When the equipment is in humid environment, it is necessary to shorten the lubrication cycle

according to the situation.

It is suggested to use AL automatic lubrication system. Refer to "Automatic lubrication " for

detailed method.

BRTHE, REFPERVWIVES, BBHIN: FBRUREHER, AR 1-2 m/EKERIVHE
(HETEEA 15W40 ThEtl) G55 B, BBRUE 1 Fim.

WEEN 6 PARNBKNE, EBEHDB, WENDEMRERL Fol Bl

SROVDELE. WSASHMAR; EHHITHBN, T2REH &

FEN RO EBRABK  EBHINNTHES S RTNEE, i

WRABRIRBIEA TZA, BUEHTEIIGES. 1]

RZBEDBEAN, #RE 2000/ )\ WE2ES—X, 8RIVEER,

'

]
u

BXPEREBA 1 mlEBE. 5
WETTRESEERAN, ERRESINSNEDREH. " The Lbrcato shall be done on he sices
for flat chain.

A HEFER AL BEPEBAR, FMREDESZ (BEBY o | NTrIsmaserEtme

AL automatic lubrication system will provide the even lubrication on the chain during the running
process. Refer to Figure 2 for lubrication point.
ALBIEBAAEBARSTCITIEPNHRIHITRECENDDEE, BHBRUE 2 Fim.
1. For the chain in carbon steel, Fig2 [2
the lubrication oil per meter is 0.85 ml/100 h min (= 8 g/1000 h)
XU TR AR T BN SR BOLRAR,
BXE&MAEEHLSE 2 0.85 ml/100 h (=8 g/1000 h)
2. For the maintenance-free chain,
the lubrication oil per meter is 0.21 ml/100 h min(= 2 g/1000 h)
XN FRUEIFER,

BREDBHLSE 2 0.21 ml/200 h (=2 g/1000 h) AL Automatc Lubricaton Syster
Page9

HEIM



®

@Modular

Assembly Technology

The setting of Automatic lubrication circle
BmEBEIRE

Reference value of lubricating circle for 120ml oil tank (month)/120mifEEEEFERSZEE (B)

Conveyor length/@hxEs&a K E Im | 2m | 3m | 4m | 5m | 6m | 7/m | 8m | 9m | 10m | 11m | 12m
Carbon steel chain/fRiNEES 12 9 6 5 4 3 3 2 2 2 1 1

Maintenance-free chain/G@4EPsss% | 12 | 12 | 12 | 12 | 12 | 12 | 11 9 8 7 7 6

Reference value of lubricating circle of 250ml oil tank (month)/250miiEEEEHRSZE (B)

Conveyor length/fhxZ&EmKE Im | 2m | 3m | 4m [ 5m | 6m | 7/m | 8m | 9m | 10m | 11m | 12m
Carbon steel chain/friNEES 12 12 12 10 8 6 5 5 4 4 3 3

Maintenance-free chain/@ #:irsEs% | 12 12 12 12 12 12 12 12 12 12 12 12

The Setting of Automatic lubrication pulse

BB TIRE

y [h]
e x [m]: Conveyor length
L WK E
20 y [h]: The interval of pulse lubrication
\\ prPEBavErR
15—\ 1): Reference value /Impulse for
\C chain in carbon steel: 0.26 ml
10 N BRINEEREAXPEIFIE : 0.26 ml
Reference value /Impulse for
maintenance-free chain: 0.1 ml
> e AR SIOPEIAIE : 0.1 mi
0
1 2 3 4 5 6 7 8 9 10 11 12
x [m]
Note
TR

1. The length difference of lubrication lines is 10 mm max. Different length of lubrication
lines may lead to unequal distribution of lubrication oil because of uneven flow
resistance.

HBEBEBHNKEZERIR <10 mm, AAEYEEEEBKEBTANOEYRIENTEESFEHE
BAIDEA—E,

2~ The lubrication line must always be located lower than the lubrication pin, otherwise the
lubrication line runs dry (uncontrolled oil leakage, air bubbles form in the tubing).
EREEUIRMEERREN N, SNESESAZIERE, BEEEENTE, EX
S EEEBRT.

3. Please fill in the lubrication lines with oil before the first operation. For example, Actuate
the lubrication system by pressing button in the PLC control until the oil is spilled out of
the line. (the details please refer to the mannual of AL lubrication system).
TERETRNETHEREE, AN, BRIFEBIRE PLC iFHids LoV8 (¥ BmEae
TOERTM, BRSEBFIMEBRPRE L.

Pagel0
10



®

@Modular

Assembly Technology

1. Abnormal noise from chain: it is mostly because of minor parts falling into the chain. If any,
stop the equipment at the first place and take out the parts according to the noise.
HRRIN: Z2BM\SEMHREAERERS KR, TE2AREN, RIEFSMUSHRERDHEL.

2. Noise from drive unit or driven unit: the bearing maybe need to be lubricated.
WNRITTHM R ITTRI: ZREDHRER R

3. Overheated motor: check if the equipment is overloaded, there is loose motor wire or the
motor loses on phase.

BIA:NEIREZREBH, BIEARSMINNBIRESHRE,

/8] B &R/Headquarters 7'M 23 B/Subsidiary Company

ik T TERETE = ELEFALXGELIX AMEERITA B RARBIRAF]

Add: Haiwan Industrial Area, Economic Development Zone Suzhou Modular Industrial Automation Technology Co., Ltd.

of Pulandian, Dalian 116200, Liaoning Province, China ok ST A 7N TR AR X 4255 B AR FF & X % PR ETE 7% FHE§ 958 5
E31&/Tel: +86 (411) 66316200 Add: No. 958 Chengyang Road, Chengyang Street, Xiangcheng Economic
f&E/Fax: +86 (411) 66316208 Development Zone, Suzhou 21500, Jiangsu Province, China

B F BB FE/Email: sales@moduasm.com FE FHRFE/Email: sales.sz@moduasm.com

31/ Website: www.moduasm.com

[ Bl 55 2R/ International Department

3 Tel: +86 (411) 81981885 A&k /Shenzhen Office
+86 (411) 66316207 R F B #H/Emalil: sales.shenzhen@moduasm.com

fEE/Fax: +86 (411) 81981995
8 F#F 8/Email; info@moduasm.com

We reserve the right to update our product specifications and improve the production process without any notice
and obligations, please refer to the our latest catalogues from our website or contact us at info@moduasm.com.
ANARBAFE-REASHREFTEAREHONF, EEEE, BABITEM, & e
FhETRNE B R uh A5k 516 LR LR




